Scotch Doubles

6th $$

Evans 5 Cady 5

1

W TO 57

53

49

41

33

25

Hoffman 4 Tynes §

Estle 6 Garcia 3

2

17

L OF 24

Beckley 4 Unsden 5

Fillman 7 Bertram 3

3

L TO 40

L OF 46

34

26

BYE

Doss 4 Hattaway 4

18

45

APA
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v
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Beers 5 Martin 4

L OF 23

BYE

Grosz 4 Miller 5

5

LTO 39

50

42

35

27

Conwell Martell 5

Bock 4 Greenough 5

6

19

L TO 50

L OF 22

Hanlan 5 Calo 3

Wagner 4 Sachsenmaier 7

=

LTO 38

L OF 45

36

28

BYE

|Ferony 4 DeBerry 2

20

Thompson 5 Goforth 4

46

55

L OF 21

BYE

LTO 37

L TO 49

LTO

58

W TO 60



6th $$

Anderson 6 Pyle 3

9

W TO 58

54

51

43

37

29

Mc Entee 5 Stowe 5

Rodriguez 5 Villarreal 5

10

21

L OF 20

| ambright 5 Pelosi 3

Gollnick 5 Cunningham 4

11

LTO 36

L OF 48

38

30

BYE

12

Winterbottom 5 Goforth 3| 22

47
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Bailey 5 McCraw J

L OF 19

BYE

Ramirez 6 Voight 4

LTO 35

13

52

44

39

31

Fischer 6 Scholler J

23

O'Steen 5 Surratt 4

LTO 52

14

L OF 18

BYE

Twardzik 4 Smith 4

LTO 34

Chartier 3 Srinivasan 3

15

L OF 47

40

32

BYE

Glen 5 Thomas 5

24

16

Upreti 3 Vijayan 4

48

56

L OF 17

LTO 33

BYE

LTO 51

LTO 57

W TO 60
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5th $$ .
poolplayers.com
4th $$ W OF 53 W OF 55
57
2nd $$
Loser
L OF 56 TO 60
3rd $%$ 61
59
1st $$
5th $$
62
1
WINNER |
61 W OF 54 W OF 56 |
W TO 62 :
58 |
|
|
W OF 61 : ________
L OF 60 L OF 55 |
|
|
|
A" " IS ONLY NEEDED if the winner :
of the Loser's bracket beats the winner of the |  _ _ __ 4

Winner's bracket in Match 62. Thus causing a final
match to be played.
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